RIREY

| 5hARERSEY AMEHEEE

BREMRS N 07 20052006

ERAICERDD RV ARZEZIFITDIHICFERLET,
BfFIFICIEEENY RESFEARL TV

A\
4—3
3

S

EN NIVl
70Nl

01A402111 \ u,?

BtHT# |

5|

OXRENE JFRIEIND > &

A

£

% TAYSE | WREEE | SR L T

01A402111 180 1 — 50
L
EAS
- AN} \
|7F}D|‘Zil)7'hlf‘ NMEHFRE R

R BSEFERZEEEICAVT. AV URUZEESY EETT 2 =HIC
5 FERALET,

8

c

i

X

gt

A
22 M12 -
e 02A412100

OREYUE BRI > E

wE THXSRE | A | B | B | o

M12X100 02A412100 100 | 60 10 10 100

M12X%X120 02A412120 120 | 60 10 10 100

M16X100 02A416100 100 | 60 10 10 100

M16X%X120 02A416120 120 | 60 10 10 100

M16X%X210 02A416210 210 | 50 10 10 50

- M16X240 02A416240 240| 50 1 10 50

M16 M16X270 02A416270 270| 50 1 10 50
T M16x300 | 02A416300 [300|50 | 1 10 50
M16X350 02A416350 350| 70 1 10 40

M16X400 02A416400 400| 70 1 10 30

M16X450 02A416450 450 70 1 10 30

M16Xx500 02A416500 5001| 70 1 10 30

2 O 6 HHRE S SIAER O MEER 3 R



